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#include <stdio.h>
#include <stdlib.h>
#define N 4 /* NRKRIEFITH| */
void input matrix(double a[N][N],char c,FILE* fin, FILE* fout);

void input vector (double b[N],char c,FILE* fin,FILE* fout);
void simple gauss (double a[N] [N],double b[N]) ;

int main (void) {
FILE *fin, *fout;
double a[N] [N], b[N];
int i;
if ((fin=fopen ("input.dat","r"))==NULL) exit(1l);
if ((fout=fopen ("output.dat","w"))==NULL) exit(1l);
input matrix(a,’A’ ,fin,fout); input vector(b,’b’,fin, fout);
simple gauss(a,b);
fprintf (fout, "Ax=bDRIIKRDEY TI¥n");
for (i=0;i<N;i++) { fprintf (fout, "%£f¥n" ,b[i]) ;}
fclose(fin); fclose(fout) ;

return 0O;
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void simple gauss(double a[N] [N],double b[N]) {

int i,j,k;
double alpha, tmp;
for (k=0;k<N-1;k++) { /* RitEHEZE */
for (i=k+1;i<N;i++) {
alpha=-a[i] [k]/a[k] [k];
for (j=k+1; j<N; j++) {
a[i] [j]l=ali] [J]1+alpha*a[k][]]’
}
b[i]=b[i]+alpha*b[k];

}
b[N-1]=b[N-1]/a[N-1] [N-1]; /* ERA */
for (k=N-2;k>=0;k--) {

tmp=b[k];

for (j=k+1;j<N; j++) {

tmp=tmp-a[k] [J]*b[]]’
}
b[k]=tmp/a[k] [k];
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#include <stdio.h>
#include <stdlib.h>

#define N 4
void input matrix(double a[N] [N],char c,FILE* fin,FILE* fout);

void input vector (double b[N],char c,FILE* fin,FILE* fout);
int main(void)
{
FILE *fin, *fout;
double a[N] [N],b[N];
if ((fin=fopen ("input.dat","r") )==NULL) {
printf ("IPAMIVIERONYFEEA :input.dat ¥n");
exit (1) ;
}
if ((fout=fopen ("output.dat",6 "w'") )==NULL) {
printf ("I7AILHMERE TEF A :output.dat ¥n");
exit (1) ;
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input matrix(a,’A’,fin,fout); /* {THIADAHA */
input vector(b,’b’,fin,fout); /* X7 MILbDAHA */

fclose(fin); fclose(fout) ;
}
void input matrix(double a[N] [N],char c,FILE* fin,FILE* fout) {
int i,j;
fprintf (fout, "{THl%scldRDBEY TT¥n",c);
for (i=0;i<N;++1i) {
for (=0, j<N;++7j) {
fscanf (£fin, "$1£f",&(a[i]l [j]));
fprintf (fout, "%5.2£¥t",a[1][]]);
}
fprintf (fout,"¥n") ;
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void input vector (double b[N],char c¢,FILE* fin,FILE* fout) {
int i;
fprintf (fout,"RZ7 FILsclIRDEY TT¥n",c);
for (i=0;i<N;++1i) {
fscanf (fin,"%1f",&(b[i])) ;
fprintf (fout,"%5.2£¥t" ,b[i]) ;
fprintf (fout, "¥n") ;

input.dat®AR

1.0 2.0 1.0

4.0 5.0 -2.0 4.0
4.0 3.0 -3.0

2.0 1.0 1.0 3.0
-1.0 -7.0 -12.0 2.0
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output.datDAAR

T5AlRDEY TY,

1.0 2.0 1.0 1.0
4.0 5.0 -2.0 4.0
4.0 3.0 -3.0 1.0
2.0 1.0 1.0 3.0
7 FILplERDBEY TTY.
-1.0

-7.0

-12.0

2.0
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